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A Theorem on Infinite Sets

Theorem 1.
There exists an infinite set.
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A Theorem on Infinite Sets

Theorem 1.
There exists an infinite set.

Proof.

This follows from the axiom of infinity.
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A Theorem on Infinite Sets

Theorem 1.
There exists an infinite set.

Proof.

This follows from the axiom of infinity.

Example 2 (Natural Numbers).

The set of natural numbers is infinite.
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Definition 3.

ABCdef0123 0000000 O0O0OODODOO0O0OODOOOOOODOOO
000000000000 0ooob00oooooboooobobooooo
0000

Theorem 4.

000000000000 «c000000000000 e, b0000
A+ =20000000000

Corollary 5.

000000000000 cO00000000000 e, bO0OOO0
24+ =20000000000
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Lemma 6.

000 PABOUOO POODODODODOOOOOOODODO ABOOODOOOO
0o00ooOo,coogocbodoo ogoonoooPOnbnO PABOO
gogooogdg

Theorem 7.
000000000000 «c000000000000 e, b0000
AZ+=20000000000
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